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No. e BEE [ BAE | BE [ BAE | BOE [ BAE | SAERESR | R 2K
1 LS 0.04 0.07 0.05 0.07 0.05 0.07|[5i5dedE. [LigHL 5
2 |[ERFHILE 0.05 0.05 0.04 0.05 0.04 0.05| Lk 5
3 [ ZAEMFHLE 0.05 0.06 0.05 0.06 0.06 0.06|[LimdL & 5
4 |5 BT E—F{HLE 0.04 0.06 0.04 0.06 0.04 0.06| L3P 5
5 |[HETF{ 515 0.04 0.06 0.04 0.06 0.04 0.06|LBhk, LiBmAE. LG HA 6
6 |5 FHILE 0.05 0.06 0.05 0.06 0.05 0.06|[LiH 5
AEEEZETR 0.06 0.07 0.06 0.07 0.06 0.07|[Li3H R 5
8 [EFFAFIILE 0.06 0.07 0.06 0.07 0.06 0.06|[5imHR. [LizdL 5
9 | ZHHE-FHLE 0.05 0.06 0.05 0.06 0.05 0.06|[5imHR. [LizdL 5
10 [FEFR BT F L 15 0.04 0.05 0.04 0.05 0.04 0.05|[AiEmE. LG/ 5
NEEE =R 0.05 0.06 0.05 0.06 0.05 0.06|[LimdeE 5
RIEHIZI12=T 4L 0.04 0.05 0.04 0.05 0.04 0. 05| L35/ P 5
13[BEaAI =T 465 0.04 0.05 0.04 0.05 0.04 0.05[[&ZEA Y Ot 5
AREEEE=S PN 0.04 0.05 0.04 0.05 0.04 0. 05| L5/ P 5
15 [/NRFH 515 0.04 0.06 0.04 0.06 0.04 0.07|[LiEHhL, LIEFAE 5
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